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2024404 H20H KIz(E) BHREUEBEE

R Fih | B4 Eh AREE SfE | PiE | RfiE m Eih | B4 E# AGHE SfiE | PiE | ZFE

Faky 20 |5.0kg RER 3,456 NFF 13kg 24EY 4,536 2,700

HE BL |10.0kg REXR 2,700 N7yl |6E  |10kg Z4J)EY 3,456 2,484

Ei1 L 13.0kg REA 6,480 BERAY 6E |10kg /L 3,888 3,564
FhAARY 5.0kg P34 4,860 JL—=77)L—Y [32F |[17kg %= 5,940
L/ 0oy 5.0kg P34 5,400 Lo 72E |17kg TAUAh 9,720
Y50 36 |10.0kg i 5,940 LEY 17kg FTA)AH 9,720
A=Y X 0.25kg =k 292 Lyksn—J 8.2kg F 6,480
BALRSED 8.2kg F) 7,020
BALERSED 8.2kg F) 7,020

*24 8.2kg NZ 4,860 4536
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